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11. [11 Since there is not much time left, weneedtobeas  as
possible 1n our work.
(1)efficient (2)generous (3)definite (4) mature

12. [11 The young man should be of himself for the rude
attitude with which he treated his parents.
(1)ashamed (2)capable (3)envious (4)practical

13. (11 All workers in the company must with each other so that
work can be done quickly.

(1)cooperate (2)challenge (3)confront (4)capture

14. (21 Tt was reported that the televised debate had a limited effect
on voters’ support of both presidential

(Dapplicants (2)candidates (3)magnets (4)permits
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15. [41 Due to pollution and overhunting, the number of large fish

16.

17.

18.

19.

20.

[2]

[3]

(1]

[3]

(1]

like sharks in the oceans has
by 80 percent in just 50 years.
(Dappealed (2)stressed (3)survived (4)decreased

MRT has many __ for commuters; for example, it is fast,
quiet, clean and so on.
(1)devices (2)benefits (3)bargains (4)missions

In the past, the high-mountain railroad was used to __ wood
logs, but now it 1s used to carry passengers.
(1)capture (2)advertise (3)transport (4)consume

The smartphone market will likely grow around 10% 1n
2016, and thisrapid __ should bring in money for
companies 1n the mobile industry.

(1)expansion (2)attraction (3)organization (4)population

the modern technology, nowadays we can get
information on the Internet conveniently.

(1)About to (2)Instead of (3)Thanks to (4)Except for

As an international language, English allows people of
different countries to converse in a common language.
(1)communicate (2)announce (3)behave (4)involve




